

# HW Solutions: 11.10

April 11, 2004

## 1 Section 11.10

3.

$n$	$f^{(n)}(x)$	$f^{(n)}(0)$
0	$\cos x$	1
1	$-\sin x$	0
2	$-\cos x$	-1
3	$\sin x$	0
4	$\cos x$	1
$\vdots$	$\vdots$	$\vdots$

We use Equation 7 with  $f(x) = \cos x$ .

$$\begin{aligned}\cos x &= f(0) + f'(0)x + \frac{f''(0)}{2!}x^2 + \frac{f^{(3)}(0)}{3!}x^3 + \frac{f^{(4)}(0)}{4!}x^4 + \dots \\ &= 1 - \frac{x^2}{2!} + \frac{x^4}{4!} - \dots = \sum_{n=0}^{\infty} \frac{(-1)^n x^{2n}}{(2n)!}\end{aligned}$$

If  $a_n = \frac{(-1)^n x^{2n}}{(2n)!}$ , then

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \left| \frac{x^{2n+2}}{(2n+2)!} \cdot \frac{(2n)!}{x^{2n}} \right| = x^2 \lim_{n \rightarrow \infty} \frac{1}{(2n+2)(2n+1)} = 0 < 1 \text{ for all } x.$$

So  $R = \infty$  (Ratio Test).

9.

$n$	$f^{(n)}(x)$	$f^{(n)}(0)$
0	$\sinh x$	0
1	$\cosh x$	1
2	$\sinh x$	0
3	$\cosh x$	1
4	$\sinh x$	0
$\vdots$	$\vdots$	$\vdots$

$$f^{(n)}(0) = \begin{cases} 0 & \text{if } n \text{ is even} \\ 1 & \text{if } n \text{ is odd} \end{cases} \text{ so } \sinh x = \sum_{n=0}^{\infty} \frac{x^{2n+1}}{(2n+1)!}.$$

Use the Ratio Test to find  $R$ . If  $a_n = \frac{x^{2n+1}}{(2n+1)!}$ , then

$$\begin{aligned}\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| &= \lim_{n \rightarrow \infty} \left| \frac{x^{2n+3}}{(2n+3)!} \cdot \frac{(2n+1)!}{x^{2n+1}} \right| \\ &= x^2 \cdot \lim_{n \rightarrow \infty} \frac{1}{(2n+3)(2n+2)} = 0 < 1\end{aligned}$$

for all  $x$ , so  $R = \infty$ .

14.

$n$	$f^{(n)}(x)$	$f^{(n)}(2)$
0	$\ln x$	$\ln 2$
1	$x^{-1}$	$\frac{1}{2}$
2	$-x^{-2}$	$-\frac{1}{4}$
3	$2x^{-3}$	$\frac{2}{8}$
4	$-3 \cdot 2x^{-4}$	$-\frac{3 \cdot 2}{16}$
$\vdots$	$\vdots$	$\vdots$

$$f^{(n)}(2) = \frac{(-1)^{n-1}(n-1)!}{2^n} \text{ for } n \geq 1, \text{ so } \ln x = \ln 2 + \sum_{n=1}^{\infty} \frac{(-1)^{n-1}(x-2)^n}{n \cdot 2^n}.$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \frac{|x-2|}{2} \lim_{n \rightarrow \infty} \frac{n}{n+1} = \frac{|x-2|}{2} < 1 \text{ for convergence, so } |x-2| < 2 \Rightarrow R = 2.$$

21. If  $f(x) = \sinh x$ , then for all  $n$ ,  $f^{(n+1)}(x) = \cosh x$  or  $\sinh x$ . Since  $|\sinh x| < |\cosh x| = \cosh x$  for all  $x$ , we have  $|f^{(n+1)}(x)| \leq \cosh x$  for all  $n$ . If  $d$  is any positive number and  $|x| \leq d$ , then  $|f^{(n+1)}(x)| \leq \cosh x \leq \cosh d$ , so by Formula 9 with  $a = 0$  and  $M = \cosh d$ , we have  $|R_n(x)| \leq \frac{\cosh d}{(n+1)!} |x|^{n+1}$ . It follows that  $|R_n(x)| \rightarrow 0$  as  $n \rightarrow \infty$  for  $|x| \leq d$  (by Equation 10). But  $d$  was an arbitrary positive number. So by Theorem 8, the series represents  $\sinh x$  for all  $x$ .

$$27. e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!} \Rightarrow f(x) = x^2 e^{-x} = x^2 \sum_{n=0}^{\infty} \frac{(-x)^n}{n!} = \sum_{n=0}^{\infty} \frac{(-1)^n x^{n+2}}{n!}, R = \infty$$

$$37. e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!}, \text{ so}$$

$$e^{-0.2} = \sum_{n=0}^{\infty} \frac{(-0.2)^n}{n!} = 1 - 0.2 + \frac{1}{2!}(0.2)^2 - \frac{1}{3!}(0.2)^3 + \frac{1}{4!}(0.2)^4 - \frac{1}{5!}(0.2)^5 + \frac{1}{6!}(0.2)^6 - \dots. \text{ But}$$

$$\frac{1}{6!}(0.2)^6 = 8.8 \times 10^{-8}, \text{ so by the Alternating Series Estimation Theorem, } e^{-0.2} \approx \sum_{n=0}^5 \frac{(-0.2)^n}{n!} \approx 0.81873,$$

correct to five decimal places.

53.

$$\begin{array}{r}
 1 + \frac{1}{6}x^2 + \frac{7}{360}x^4 + \dots \\
 x - \frac{1}{6}x^3 + \frac{1}{120}x^5 - \dots \overline{) x} \\
 \underline{x - \frac{1}{6}x^3 + \frac{1}{120}x^5 - \dots} \\
 \frac{1}{6}x^3 - \frac{1}{120}x^5 + \dots \\
 \underline{\frac{1}{6}x^3 - \frac{1}{36}x^5 + \dots} \\
 \frac{7}{360}x^5 + \dots \\
 \underline{\frac{7}{360}x^5 + \dots} \\
 \dots
 \end{array}$$

$\frac{x}{\sin x} \stackrel{(15)}{=} \frac{x}{x - \frac{1}{6}x^3 + \frac{1}{120}x^5 - \dots}$ . From the long division above,  $\frac{x}{\sin x} = 1 + \frac{1}{6}x^2 + \frac{7}{360}x^4 + \dots$ .

58.  $\sum_{n=0}^{\infty} \frac{3^n}{5^n n!} = \sum_{n=0}^{\infty} \frac{(3/5)^n}{n!} = e^{3/5}$ , by (11).